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But we require an 77°py and a 71377 from a place that is four 2omoY’

OVERVIEW

The X773 asks why the 2"7v2 \"1v is 2»1; since either the 77°pY or 7717 was from a
hand or on a hand, as is stated in the 71wn, there should be no 21’17, since a place of
oo '7 Y '7 is required for an 7Py or nan. Moo will explain why the X723
assumes that a place of "7 9v 7 is required for an 7°pyor 7M.

mooIn anticipates the following question: why does the X713 assume that a place of o°mow '7 9y '7
is required for an 77°pY and a 717377 N©OIN replies:

- 2133 N9 YOND NINY M9 PNRT BN 19539 N
an 11931 says — That since it is not customary to place an article on a place that

is less than four onov (because it may fall, etc.), -
= 12122 RNINON NN 1Y

and therefore presumably that is the way that it was in the 2w, that they placed
objects only on a place that is '7 9¥ '7, and since we derive all moX%n% from 12wnn NoX9n, therefore
an 7Py or a 737 has to be on a '7 9y "7 01pn just as it was in the own .

mooin offers an alternate explanation why a 7 9v "7 0Wpn is required:
= IMIPNN YIN N INT DAY 13929 99N Ty

And furthermore says the >'', that the ?105 of ¥1pP1a” WIR RX> X which literally

means ‘“no man leave his plalce”,3 -
= NONN NPT ") YNIVN

also means that we are referring (with the word mpnn) to the object, not only to

the person, as in the literal meaning —
= NON YV 1IPNRN 99995

as if to say that the word 1M pnn, means from the place of the object —
- NONY IN N INT (3,1 /n pr9) PAYIYA POWAT
as the X=m3 interprets this o5 in 192179 'on that the words of the ""8¥ 98" P05,

" A mov is approximately 3 to 4 inches
? See “Thinking it over # 4.
? The 100 of "mpnn wK X X' may be understood in its literal meaning that “no man shall leave his place”
meaning, as Md0IN will say, that he should not leave his n»X "7 (if he traveled a naw o1, he must remain in the '7
mnX at the end of the 1n). See ('277) NMIX*¥* 77 X ,2 M2OIN for a different reading of the P109.
* See 0"n (and TIE (‘277) nx°x® 7"7 X,2 '010 footnote # 3).
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which literally mean “no one should leave from his place”, should be understood

as if it was written X¥2Y° ®X, do not fake out an object from its place,
- N 7119907 DTN SY 1YPN Y OND NPT 1OOVUST 22 YY 4N

Even though that in the simple reading of the P2, the word 1117 refers to the

place of the man, which is four n»R,” i.e. The simple meaning of the 102 is that no man
should leave his place of mX "7 (if he traveled a naw N, he is limited to his MR '7) —
=793 N YN DIPN PRI NOND DIPN 219 YNRWN OIPN Yon

Nevertheless it also means the place of the object, i.e. No man shall remove or
carry out an object from its place to another M7; and it cannot be considered a

proper place if it is less than o°rdv '7 9¥ '7. Le. the 70 forbids us to remove an object
from its place, referring to the resting place of the object as a 23p», meaning a place that is fitting
to be called a significant place, and less than '7 9¥ '7 is not considered a significant place.

SUMMARY

The two sources from where we know that a 0>rov '7 9 '7 01p7 is required for 771°py
an1m are:

1) Presumably no one places on object on a space less that 7 (because it is not
safe), therefore we can reasonably assume that in the j2wn this was the case as
well, and since all naw noX» including 7015 R¥T are learnt from the 10wn, they
have to be done in the same manner as they were done in the 12w, namely 77°pY
"7 9y "7 QPR v2x Hyn anan.

2) There is a P10 which says ¥pnn WK X¥° X, which according to the X713 may be
understood to mean that one should not carry out something from its place, since
the P09 refers to the resting place of the object with the word ¥ pnn (from its
place), the P05 i1s telling us that it requires a formal and significant resting place,
and less than '7 1s not a formal and significant resting place.

THINKING IT OVER
1. What may be the relative advantages of the various 20w of n"7 ,>"w" and the
"9, why a '7 211 1s required for 77IM 7PY?

2. We learnt before in (bW 73"7 X ,2) Md0IN, that there was 170127 IRXIT in the 1DWwn,
when the 0% loaded and unloaded the o°wnp from the ground to the M2y (and

> An 7nX is 6 019w, or approximately 18 to 24 inches, nax '7 would be about 6 to 8 feet
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vice versa). Now both the ground and the 7773v is a '7 03pn, so why does '01n say that
we presume that a '7 01p» was used in the 1Dw» for AmIM 7Py, when we know for
sure that it was so?

3. The two sources of '0In for a '7 2pn are 1) the 1own, 2) the R¥°> 95X 7Moo, Can we
correlate these two points with the vws 7"7 & ,2 '01n?°

4. mpoin first explanation (by the n"9) is that it is usual to place an object on a Dp»
'7 and presumably that is the way it was done in the 19wn.” Seemingly it is usual to
place objects in a hand (and this is this [also] they way it was in the ®jown). The
X713 should have answered immediately that 278 5w 17° is 72wn for a 7Py DPn
A !’

® See o°now pn» and WX NN
7 See footnote # 2.
8 See xmH7111"7 2,7 Mmoo (TIE footnote # 7) that 198917 "W 75 Pam.
? See X"Dw.
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